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Introduction
As can be seen from Table 6.2.4E-2 in [1], for CATM2, NS07 AMPR is still pending. In this paper, the same has been proposed for 10MHz system BW. AMPR table has been proposed in the format of NBIndex, RBstart and RB length. 
Discussion
For 10MHz, 1 RB on either end of the system BW is unused for CATM2. Taking that into account, RB start and LO for CATM2 in 10 MHz system BW have been determined. 
The cases simulated are (NB index, Start RB) = (0,0), (0,3), (1,0), (1,3), (2,0), (2,3), (3,0), (3,3), (4,0), (4,3) for RB lengths of 9, 12, 15, 18, 24. 
[image: ]
Figure 1: PSD for 24 RB allocation for the case of (NBIndex, RBStart)=(0,0)
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Figure 2: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (0,0)
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Figure 3: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (0,3)

[image: ]
Figure 3: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (1,0)
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Figure 4: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (1,3)
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Figure 5: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (2,0)
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Figure 6: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (2,3)
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Figure 7: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (3,0)
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Figure 8: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (3,3)
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Figure 8: MPR+AMPR for different RB Lengths for the case of (NB Index, RB Start) = (4,0)

In summary, the proposal for MPR+AMPR for NS07 for CAT M2 is shown below: 
	(NBindex,RBstart)
	(0/1,<6)
	(0/1,<6)
	(2/3,<6)
	(2/3/4,<6)
	(4,<6)

	RBLength
	9,12, 15
	18,24
	9,12, 15
	18,24
	9,12, 15

	MPR+AMPR (dB)
	11
	13
	5
	7
	3



Proposal 1: AMPR for CAT M2 to meet NS07 requirements for power class 3 is shown below: 
	(NBindex,RBstart)
	(0/1,<6)
	(0/1,<6)
	(2/3,<6)
	(2/3/4,<6)
	(4,<6)

	RBLength
	9,12, 15
	18,24
	9,12, 15
	18,24
	9,12, 15

	AMPR (dB)
	10
	12
	4
	6
	2



Conclusion
In this paper, AMPR for CAT M2 to meet NS07 requirements has been proposed in Proposal 1 above. 
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